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QUESTION 1

Which HP 3PAR StoreServ features help you meet IT improvement goals? (Select two.) 

A. Persistence Ports 

B. Thin Provisioning 

C. Virtual Domains 

D. Virtual Lock 

E. Virtual Copy 

Correct Answer: AB 

 

QUESTION 2

During an HP customer assessment workshop, the Alinean report shown in the exhibit is created. Which cost saving
should you highlight in your presentation when positioning the value of HP 3PAR StoreServ Thin Technologies? 

A. Planned downtime 

B. Unplanned downtime 

C. Application integration 

D. Power and cooling 

Correct Answer: A 

 

QUESTION 3

You are designing a storage solution for a customer concerned about storage availability during code upgrades. Which
HP 3PAR Port Persistence node identity handles host I/O requests, thus providing greater resiliency during code
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upgrades? 

A. Guest 

B. Master 

C. Slave 

D. Native 

Correct Answer: A 

Persistent Ports 

This is a really cool feature as well - it gives the ability to provide redundant connectivity to multiple controllers on a
3PAR array without having to have host-based multipathing software. How is this possible? Basically it is NPIV for the
array. 

Peer controllers can assume the world wide names for the ports on their partner controller. 

If a controller goes down, it\\'s peer assumes the identities of that controller\\'s ports, instantaneously providing
connectivity for hosts that were (not directly) connected to the ports on the downed controller. This eliminates pauses for
MPIO 

software to detect faults and fail over, and generally makes life a better place. 
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QUESTION 4

A customer is building a new data center. They want to implement a free cooling strategy in order to reduce their
Computer Room Air Handling (CRAH) costs, while increasing their rack density. 

Which free cooling methods meet the customer requirements? (Select two.) 

A. Water-side economization 

B. Air-side economization 

C. Cold-aisle containment 

D. Closed-loop containment 

E. Hot-aisle containment 

Correct Answer: AB 

p4, topic "free 

http://h20000.www2.hp.com/bc/docs/support/SupportManual/c02507744/c02507744.pdf cooling strategies" 

 

QUESTION 5

Refer to the scenario. 

A large publicly-traded motion picture exhibitor that is a leader in digital and 3D cinema deployments operates 233
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theaters and more than 2,200 screens in small to mid-sized communities in 35 states around the United States. They
rely on 

MS Exchange Server 2010 for email. MS SQL Server 2010 for analyzing data about movies and theater-goers, and MS
Excel 2010 for crunching numbers. 

The company runs nightly incremental backups and a full weekly backup that consists of close to 7 TB of data which
takes up 72 hours to complete. The quarterly backups add an additional 7 TB of data. Tapes are inventoried and
transported 

from the main data center to the disaster recovery site 150 miles away. The process of transporting tape cartridges to
and from the Disaster Recovery site requires hours of daily work. 

The company currently relies on an aging robotic tape library and a process that takes the nightly backup tapes offsite
every morning. Additionally, the company keeps an inventory, and if a restore is necessary they have to retrieve the
tapes 

from the DR site and transport them to the main data center site They have a 7 year data retention plan, and the tapes
are expensive and not always reliable. Given the company\\'s current system, if a full weekly backup fails over a
weekend, 

the re-run could take up to 10 hours, even if just one job failed. 

The company has deployed a virtualized server infrastructure which runs VMware vSphere 5 on HP BladeSystem c7000
enclosures and BL460c servers interconnected with HP Virtual Connect Flex-10 10Gb Ethernet Modules as well as
several HP ProLiant DL380 servers. The company\\'s top four IT improvements goals are as follows: 

-replacing the aging robotic tape library 

-enabling replication of backed up data from the main data center to the disaster recovery site (150 miles) 

-retaining more backup data in smaller disk space 

-increasing efficiency reliability, and ease of system administration 

Moreover the company\\'s top three business benefit goals are as follows: 

-increased confidence in disaster recovery 

-minimal disruption by backups during regular business hours 

-improved management of external audits 

The company has asked that you create multiple solution proposals and prioritize one when you return for a
presentation. 

During a design workshop, you become aware that the customer is adding a number of application servers into the
virtualized environment to be included in the backup environment. What is the minimum number of stores you need to
create in order to achieve optimal deduplication performance? 

A. 1 

B. 3 

C. 4 

D. 8 
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Correct Answer: B 
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